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Exercise 3. The Battle of Hastings (October 14, 1066).

“The men of Harold stood well together, as their wont was, and formed thirteen
squares, with a like number of men in every square thereof, and woe to the hardy
Norman who ventured to enter their redoubts; for a single blow of a Saxon war-
hatched would break his lance and cut through his coat of mail... When Harold
threw himself into the fray the Saxons were one mighty square of men, shouting the
battle-cries, ‘Ut!’, ‘Olicrosse!’, ‘Godemite !’.”” [Fictitious historical text, following
essentially problem no. 129 in: H.E. Dundeney, Amusements in Mathematics, 1917

(Dover reprints 1958 and 1970).]

Question. How many troops does this suggest Harold II had at the battle of Hastings?
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Sam Loyd's Battle of Hastings Puzzle

The Puzzle:

In the Battle of Hastings that occurred on October
14, 1066 Harold's forces formed 13 similar squares | AN i
with exactly same number of soldiers in each R
square.

When Harold himself joined the fray and was
added to the number of his soldiers in those
thirteen squares a single huge square could be
arranged. How many men there must have been in
Harold's force?




